Addition And Subtraction
Word Problems for 1 Digit and 2 Digit

Problem

In a shop, there are 18 boxes of corn. There were 9 more boxes of corn.
How many boxes of corn are there in total? And if she eats 6 boxes, how
many boxes are left?

Solve :
18 27
+9 -6
27 21

There are 27 boxes of corn in total, and after eating, 21 boxes are left.




1 The food bank expects to recruit 70 volunteers. 25 men and 17 women
signed up. How many volunteers were recruited?__

2. The local food market opened 28 days in January and 16 days in February.
If it will be open for 9 days in March, how many days is it open in these three
months?__

3. They had 60 boxes of french fries in storage and received 8 more boxes
last month. How many boxes of french fries are there? ___

4. A man bought three gift for his children. The prices were $95, $27 and $8.
How much did he pay in total?

5. Amy had 27 teddy . Her mom gave her 4 more teddy . How many teddy
did she have now? __



6. Billy made 15 footballs over 2 days. He made 6 on Monday. How many foot-
balls did he make on Tuesday?

/ Mary read 36 pages of her book in 1 day. She read 5 pages in the morning.
How many pages did she read in the afternoon?

8. Sally had 16 pages of homework to complete. She did 3. How many pages did
she have left?

9 Peter bought 68 apples . 9 was rotten. How many good apple did he have
left?

10. The local farmer had 71 sheep. Last night, 40 ran away. 8 of them re-
turned two days later. How many sheep did the farmer have now? _



